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Q.37 Itis projected that exports graph of India will steadily go upward for next few years. Such a boost in
exports is expected due to present:
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Section : Computer Science

Q1 Which of the following statements about GPS is false?

Ans X1_

It is a space-based satellite navigation system

/< 2. It stand for Global Positioning System
3

It stands for Global Position Synchronization

X 4

It is the backbone for modernizing the global air traffic system. weather. and location services

Question ID : 997002138
Chosen Option : 3

Q2 Which of the following is a sequential access memory?
Ans  of 1. Magnetic tape

X 2. DVD

X 3. RAM

X 4. ROM

Question ID : 99700283
Chosen Option :1

Q3 Which of the following statements is false?

Ans x1_

Rolling back the entire transaction erases all of its save points.

X2

Rolling back the entire transaction reverses all of its changes.

Vs

Rolling back the entire transaction does not end the transaction.

X 4

Rolling back the entire transaction releases any transaction locks.

Question ID :997002104
Chosen Option : 1

Q4 What is the meaning of HTML ‘vlink® attribute?
Ans  of 1. visited link

& 2. active link

< 3. virtual link

&< 4. vertical link

Question ID : 997002140
Chosen Option : 3

Q5 faffem & & Fia o S ST (e fEA), MS-DOS W e gv e wqor
32-FE 3ET 64-Fe Fe H FHIAF FT 87

Ans x 1. ﬁ?\?l’ o5
X 2 e Aeafaad g
X 3. fFEeT 98
v fREe XP

Question ID :997002115
Chosen Option : 2

Q.6 In which of the following network topologies, failure of one node can disturb the whole network?
Ans X 1. Tree
& 2. Bus

v 3 Ring

Question ID :997002123
Chosen Option : 3
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X 4. Mesh
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Q7

Ans

Which of the following is a composite attribute?
& 1. Gender
X 2. Number of dependents
X 3. Age
v 4. Date of birth

Question ID : 99700298
Chosen Option : 2

Qs

Ans

The Gray code of decimal 3 is:

&< 1. 0110
X 2. 1001
v 3 0010
X 41100

Question ID : 997002147
Chosen Option : 4

Q9

Ans

The minimum font-size of a text in MS-Word can be:

X110
Vo1
X305
X4 2

Question ID : 997002107
Chosen Option : 3

Q.10

Ans

Which of the following is a weighted code?
& 1. Excess-3
v 2. BCD
< 3. Gray
< 4. Both BCD and Excess-3

Question ID : 997002146
Chosen Option : 4

Q11
Ans

The model followed by the e-comumerce sites which facilitate online shopping of products and services is:

v 1. B2C
X 2. B2B
X 3. B2G
X 4 C2B

Question ID :997002130
Chosen Option : 1

Q12

Ans

The 15°s compliment of the Hexadecimal number (A01);g is:
X 1. (6E0)16
X 2. (6EE)6
X 3. (5F0)16
v 4 (SFE)i6

Question ID : 99700292
Chosen Option : 2

Q.13
Ans

In order to store a matrix, we need dimensional array.
& 1. three
v 2 two
& 3. four
& 4. one

Question ID : 997002160
Chosen Option : 2

Q.14
Ans

‘Which of the following logic gates outputs 0 when the input values are different?

X 1. XOR

Question ID :997002143
Chosen Option :3
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X 2. OR
X 3. NAND
v 4 XNOR
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Ans

Q.15 Which of the following class of IP addressing is used for multicasting?

< 1. Class C
v 2 Class D
&< 3. Class A
K 4 Class B

Question ID
Chosen Option

1997002121
1

Q.16 Which of the following is not a valid level in the ANSI-SPARC three-level architecture of DBMS?

X2nXm
x3- n-+-m

v i+ 1)m+1)

Ans  ff o Question ID :997002101
. Administrator level Chosen Option :1
& 2. External level
P} Conceptual level
& 4. Internal level
Q17 :
Address 220.50.50.10 belongs to: Question ID 997002119
Ans x 1. Class A Chosen Option : 2
v 2 Class C
X 3 Class B
K 4 Class D
Q.18 Number of links in a fully-connect Mesh topology network of n nodes is: )
Question ID : 997002124
Ans J 1. n(n—1)2 Chosen Option :2
X2 nn+1)2
X3 n
X4n-1
Q.19 Which of the following memory is also called “primary’ memory or ‘main’ memory?
A . ) - N ] N Question 1D :99700288
ns X 1. Flash memory Chosen Option :3
& 2. Memory stick
v 3. RAM
# 4. Hard disk
Q.20 - BT, o=
ferafafed 3 & Fia ar , $AOST F AT e A @2 Question ID :997002134
Ane X 1. agept Fr Seeyar & seead Chosen Option :3
X 2. gHRT 39T
v o ewergar # giE
XK 4. ol LA T giae
Q.21 The size (number of cells) of an array having row indices as 0 to n and colummn indices as 0 to mis:
Ans - Question ID : 997002154
x n+tm+2 Chosen Option : 2
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22 ; -y I FeETT 5T ST
Q22 fafaf@e & & #ia @1 fees Th-saeees Fawor g e Question ID : 997002125
Ans x 1 m Chosen Option :3
X 2. FrRr-arhr
v e
X 4 Tolfaad

Q23 Which of the following is a non-linear data structure? Question ID :997002151
Ans ( 1 Graph Chosen Option :1

# 2. Linked List

< 3. Queue

< 4. Array

Q.24 Which of the following categories of computers uses microprocessor?
Ans

Question ID :99700281
« 1. Fourth generation computers Chosen Option : 1

/< 2. Third generation computers
/< 3. First generation computers

/< 4. Second generation computers

Q25 The equivalent Boolean expression of A'B’ + AB” + A'B is: Question ID :997002144

Ans X' 1 AR’ Chosen Option : 2
X2 AB
X3 A+B
viAa+B
Q.26 The size (number of cells) of the k-map to simplify a Boolean function f{A, B, C. D. E) of five variables is:
Ans ( Question ID : 997002141
132 Chosen Option :1
X26
X316
X4 8
Q27 Which of the following is not a Web browser? Question ID : 897002128
Ans 1. Internet Explorer Chosen Option :2

' 2. MapReduce

X 3. Mozilla Firefox
X 4 Chrome

Q.28 - T S .
Which of the following is not an application software? Question ID : 99700282

Ans x 1. MS-Word Chosen Option :4
< 2. MS-Access
X 3. Notepad

' 4. Operating system

Q.29 NAND @ & @13 $r Wifeq & =g7aw T NOR #Ieq 1 aedsar T § (3ne, _ .
NAND iz ®ffe & e &9)? Question ID :997002142

Chosen Option : 2
Ans
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X1
X23
v 4
X4 2
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Q.30
Ans

Which of the following CPU registers is used to store values for ALU operations?

v 1. Accumulator
/< 2. Program counter

X 3. Index register
X 4. Instruction register

Question ID

Chosen Option

199700295
1

Q.31

Ans

Which of the following is a weak entity?

< 1. Book

v 2. Edition
& 3. Author
/< 4. Publisher

Question ID
Chosen Option

1997002100
12

Q.32

Ans

Number of Half Adders required to build a Full Adder is:
X113
X235
Vs 2
X4 4

Question ID

Chosen Option

1997002145
1

Q.33

Ans

frfafa & @ Fi7 o g g (iR e Fu kT
X1 FF OS X

X 2. 0S/2

X 3. ﬁg];r 7

v 4 Unix

Question ID

Chosen Option :

1997002112
1

Q.34

Ans

The length of TPv6 addresses is
X132

X216

V'3 128

X 4 64

bits.

Question ID
Chosen Option

1997002116
1

Q35

Ans

HTML is a:

' 1. scripting language

X 2. low-level language

X 3. programming language
/< 4 machine language

Question ID

Chosen Option :

1997002129
3

Q.36

Ans

What will be the sequence of numbers. if the following operations are performed on a Queue?
push(9). pop(). push(s). push(7). pop(). pop(). push(8). pop()

X1.57.8,9
X2095387

Question ID

Chosen Option :

1997002157
4
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Q.37
Ans

Almost the entire code of UNIX operating system is written in
vicC
& 2. Pascal
X5 C++
X 4. Fortran

programming language.

Question ID
Chosen Option

1997002111
1

Q.38

Ans

Electronic clearance and electronic filing are the examples of:

v i B2G
X 2 B2C
X 3. C2C
X 4 B2B

Question ID
Chosen Option

1997002132
14

Q.39

Ans

Which of the following is a DDL command in Oracle?

& 1. Delete
< 2. Update
& 3. Select
« 2. Drop

Question ID

Chosen Option :

1997002103

1

Q.40
Ans

‘Which of the following offers a line of credit (i.e., a loan)that is interest-free if the monthly bill is paid on time?

v 1. Credit card

& 2. Debit card

/< 3. Chequebook

& 4. Both debit and credit cards

Question ID
Chosen Option

1997002135
1

Q.41

Ans

Which of the following statements about Queue is false?
/< 1. It follows first in. first out policy.

/< 2. It can be implemented using array.

' 3 It can’t be implemented using linked list.

X 4 Tt is a linear data structure.

Question ID

Chosen Option

1997002158
:3

Q.42

Ans

The 8’s complement of the Octal number (6100)g is:

X 1. (6100)g
Vv 2. (1700)g
X 3 (1677
X 4. (2700)g

Question ID
Chosen Option

199700291
12

Q43

Ans

An impact printer prints characters using:

& 1. ink pen

& 2. laser beam

« 3. inked ribbon and print head
< 4. electrically charged ink

Question ID

Chosen Option

199700293
:3

file:///C:/Users/ajay/Downloads/Qp%20(1).html
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The sum of the binary numbers 10011 and 11101 is:
X 1.10001

Question ID
Chosen Option

199700286
12

GET IT ON
Google Play

X 2. 10000
< 3. 11000
v 4110000

Q45

Ans

UTF-8 uses up to

X 18

byte(s) for non-ASCII characters.

Question ID
Chosen Option

1997002113
1

v 4
X3
K42

Q.46

Ans

Which of the following is not a characteristic of embedded system?

/< 1. Reactive and real time

Question ID
Chosen Option

1997002139
:3

v 2. Multi-functioned
X 3. Single-functioned

< 4. Tightly constrained

Q47

Ans

‘What will be the sequence of numbers. if the following operations are performed on a Stack?
push(s). push(7), pop(). push(8). push(6). pop(). pop(). pop()

X 1.5.8.6,7

Question ID
Chosen Option

1997002156
:3

X2 7.6.5. 8
X36,7.8,5
w4 76,85

Q.48
Ans

‘Which of the following is similar to personal cheques. but feasible for very small transactions?

X 1. ATM

Question ID
Chosen Option

1997002133
12

V' 2. E-cash
X 3. Debit card
X 4 Credit card

Q.49
Ans

‘Which of the following menu items will be used to convert table to text in MS-Word?

X 1. Edit

Question ID
Chosen Option

1997002108
1

&< 2. Tools
v 3. Table
/< 4. Format

Q.50

Ans

(AO)s - (BA)s F UarT T AT &
v 1 (36)16

Question ID
Chosen Option

199700289
1

X 2 (46)15
X 5. (63)

<4 (30)16

16

Q.51
Ans

The density of the innermost track of a hard disk is

< 1. equal to

the density of the outermost track.

Question ID :
Chosen Option :

99700294
2

« 2. higher than
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X 3. lower than or equal to

X 4 lower than
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Q.52

Ans

The defanlt subnet mask for Class B IP addresses is:
X 1. 255.0.255.0

X 2. 0.0.255.255

v 3. 255.255.0.0

X 4. 255.255.255.0

Question ID
Chosen Option

1997002117
4

Q.53

Ans

T=Ea ¥ FiF ¥ w2H, 279 T 9g # §AYT T 87
v

YAE F THT TV 3TN FOTIET 7 F, AT wT ¥ A F
X 2. FAT FETH TEIIX ITSHION T FIIT
X 3.

rraTita BSFTar #1 3Ef F S FFueT STl W 92w T
<4

FEH & T F FA FA AT TGFT FEA FSRT T F AT FT

Question ID

Chosen Option :

1997002136

2

Q.54

Ans

The size of ‘checksum’ in TCP protocol header is bits.
v 16
X2 8
X 3. 32
X4 4

Question ID

Chosen Option :

1997002120

1

Q.55

Ans

Considering the size of ‘float” variable as four bytes. if base address of an array of float is 100. then the
address of 4% cell is:

X 1. 116
X2 104
&< 3400
v 112

Question ID

Chosen Option

1997002155
4

Q.56

Ans

The number of different symbols used in Octal number system is:
K14
V28
X316
X4 2

Question ID :
12

Chosen Option

99700284

Q.57

Ans

The Excess-3 code of decimal 3 is:
& 1. 1000
X 21010
V'3 0110
& 4. 0001

Question ID :
:3

Chosen Option

997002148

Q.58

Ans

Which of the following is a disadvantage of mobile computing?
< 1. Enhanced productivity
V' 2. Security

X 3. Entertainment
/< 4. Portability

Question ID

Chosen Option :

1997002137

1
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Q.59

Ans

Unix is a operating system.

# 1. multiuser and single tasking

Question ID

Chosen Option

1997002114
4

X 2. single user and single tasking
X 3. single user and multitasking
' 4 multiuser and multitasking

Q.60

Ans

An IP address prefixed with 1110 is address.

X 1. Class C

Question ID :
4

Chosen Option

997002122

X 2 Class B
V' 3 Multicast
X 4. Class A

Q.61

Ans

OLX =fgar I F T oA g

v 1.C2C

Question ID

Chosen Option

1997002131
4

X 2 B2G
~ 3 B2B
X 4.B2C

Q.62

Ans

MS-PowerPoint # FaT5s off ¥ #t & v Fraiad # & 5w 9o F+0 (7R 1)
T 9ERT AT ST b 27

X 1. F3

Question ID

Chosen Option :

1997002110

3

X2 F2
v': F5
X 4 F12

Q.63

Ans

The first octet higher order bits for class D IP addresses is:

X 1110

Question ID :
12

Chosen Option

997002118

v 2 1110
X 3 1111
X 4100

Q.64

Ans

Which of the following key combinations can be used in the Windows version of the
MS-Word to insert current time?

KA+ Ctrl 4+t

Question ID

Chosen Option

1997002106
1

X2 Alt+t
< 3. Shift +t
4 Alt + Shift +t

Q.65

Ans

Which of the following is a sequential circuit?

/X 1. Binary Adder

Question ID
Chosen Option

1997002150
4

& 2. Decoder
« 5 Register
2 4 Multiplexer

Q.66

Which of the following is a single-valued attribute?

file:///C:/Users/ajay/Downloads/Qp%20(1).html

Question ID

199700299

24127
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# 1. Bank account

X 2. E-mail id

/< 3. Telephone number
v 4. Gender

Chosen Option :1

GET IT ON
Google Play

Q.67

Ans

Number of different ternary arrays (an array in which each cell can store either 0. 1. or 2 is called ternary
array) of order n x n is:

X3
(2. 30N
X3. n3u
K4 qu

Question ID : 997002153
Chosen Option : 3

Q.68

Ans

The acronym of NCP used in ARPANET is:

' 1. Network Control Protocol
/< 2. National Coalition Program

< 3. Network Coalition Program
/< 4. National Coalition Protocol

Question ID :997002127
Chosen Option :1

Q.69

Ans

Microsoft SQL Server is a:
Ko

Object-oriented database management system
/< 2. Network database management system
« 5 Relational database management system

/< 4. Hierarchical database management system

Question ID : 99700297
Chosen Option :1

Q.70

Ans

Which of the following data retrieval policy is followed by Queue?
/< 1. First in. Last out

& 2. Random
« 3. First in. First out
7 4. Last in, First out

Question ID :997002152
Chosen Option : 3

Q.71

Ans

Key constraint states that:

Ko

a table can’t have more than one candidate keys

X 2
a table can’t have both primary key and foreign key

< 3. the value of foreign key can’t be null
v

the value of primary key must be unique in all tuples

Question ID :997002105
Chosen Option : 4

Q.72

Ans

Which of the following search engines is not multilingual?
v . Baidu
& 2. Yahoo!
X 3. Bing

Question ID : 997002126
Chosen Option :1
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< 4. Google
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Q.73

Ans

The 2’s compliment of the binary number 101110 is:

' 1010010
X 2. 010100
X 3. 011100
X 4. 111101

Question ID : 99700290
Chosen Option : 1

Q.74

Ans

According to DeMorgan’s theorem:

r R0

a NAND gate is equivalent to negative-AND (inverted AND) gate

X 2

a NOR gate is equivalent to negative-OR (inverted OR) gate
/< 3. aNAND gate is equivalent to NOR gate

v 2

a NAND gate is equivalent to negative-OR (inverted OR) gate

Question ID : 997002149
Chosen Option : 3

Q75

Ans

Which of the following statements about Array is false?

.l

Tt requires allocated memory blocks to be consecutive.

W2

A single array can store both integer and float (real) values.

< 3.
It can be used to implement Stack and Queue.

X 4. Tt is a linear data structure.

Question ID : 997002159
Chosen Option : 2

Q.76
Ans

In flowchart, the diamond-shaped symbol (used to represent conditional statements) have:

/< 1. two incoming lines and two outgoing lines
< 2. one incoming line and one outgoing line
+ . one incoming line and two outgoing lines

/< 4. two incoming lines and one outgoing line

Question ID : 99700287
Chosen Option :1

Q.77

Ans

Which of the following is a database management system?
< 1. Hadoop
< 2. MapReduce
X 3. MS-Word
W 4 Ingres

Question ID : 99700296
Chosen Option : 4

Q.78

Ans

Binary equivalent of the Decimal number 121 is:

v 11111001
& 2. 1000001
X 3 1111111
X 41001111

Question ID :99700285
Chosen Option :1

Q.79
Ans

Which of the following menu items in MS-PowerPoint contains the ‘AutoCorrect’ option?

/< 1. Format

file:///C:/Users/ajay/Downloads/Qp%20(1).html

Question ID : 997002109
Chosen Option : 4
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X 2. Animation
v 3. Tools
X 4 View

Q.80 Which of the following shapes is used in ER diagram to represent weak entity? .
Question ID :997002102

Ans 1. Oval (solid line) Chosen Option :2
< 2. Oval (dashed line)
v 3. Rectangle (double solid line)
/< 4. Rectangle (single solid line)
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